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ANTHROPOLOGY
PAPER - 1II

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  Australopithecus afarensis was discovered by :
(1) Meave Leakey (2) Donald Johanson
(3) Mary Leakey (4) Louis Leakey

2. Which one of the following is a measure of central tendency ?

(1) Standard error (2) Standard deviation
(3) Range (4) Mode
3.  The character of beard development in humans is a :
(1) Sex - Linked character (2) Sex - Limited character
(3) Sex - influenced character (4) Maternally inherited character
4. A genetically distinct segment of human society is known as :
(1) Tribe (2) Caste (3) Race (4) Isolate

5.  Who has defined anthropology as the ‘Mirror of Man’ ?

(1) Clyde Kluckhohn (2) L.P. Vidyarthi
(3) A.L. Kroeber (4) S.C. Roy
6. Who is regarded as the propounder of ‘neo-evolutionism” ?

(1) V.G. Childe (2) Leslie A White (3) B. Malinowski (4) Radcliffe-Brown

7.  Who brought into focus three modes of exchange reciprocity, redistribution and market
exchange ?

(1) Karl Polanyi (2) Franz Boas (3) Karl Marx (4) S.C. Dube

8.  Who wrote the book “The Remembered Village” ?
(1) M.N. Srinivas  (2) L.P. Vidyarthi (3) A.A. Aiyappan (4) S.C. Dube

9.  Which of the following involves pressure flaking technique ?
(1) Levallois technique (2) Clactonian technique
(3) Flake technique (4) Fluted core

10. Which of the following are known from Langhnaj ?
(1) Choppers Handaxes (3) Cleavers (4) Microliths

voss 111 \HIIHIII\HIIHI\
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fdor: =9 T H uemd (50) Sg-fasedtd U €1 WIE WA % Qv (2) 1k &1 Wt weA st €1

1. SAfsd ThRaE &1 @i fordq 1?2

(1) ¥ ot (2) SHeE SR
(3) W ot (4) T fa=t

2. @ $F @ FEa ygfa w1 Ameg €2
(1) = Ffe Q) " foeem
@) @ 4) T

3. W™ U T 9 *i ygrd w1 ey 1 § 9 feaw g2
(1) et Feera ) forft wfifa
(3)  fertt fermn (4) =g SR

4. MG QAN & G T S AR TG F ST AT €, F Fel Sl § ?
(1)  SrsTid (2) g (3) I (4) TTHTHRT

5. o4 fagm &t AR o1fe B9 % w9 § fhe smentaa faa?
(1) Ee FTgaEH  (2) wad. faemef  (3) Twud ®meR (4) TEHL W

6. Tomaes! ‘Fa-3fgwt®’ 1 Yerdeh AT ST & ?

1) S =nes 2) WN-T-wEe (3) . BfeEemn (4)  SfEawm-ed

7. fafma & T €9 - IR, qEfda R v TeE-eM i i Y § @@ ?
(1) e et 2) TS ST (B) T (4) TEH. T

8. ‘T fuae fooe' q&e fohem forgt ?
(1) TG fifem (2) wad faenef (3) ©u s (4) THH. T

9. T # 3 oW @t ugfd <ad vewh ugfa & e €2
(1) oaeas 9gfd (2) e Ugd (3) VeHd g (4) A HIS

10. fr=fafad o frge! ST @ S S @ ?

.

Tl 2) FeRrEl (3) foeifiv (4) H&H 9T

1)
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11. Which of the following descriptions are true of an anthropometric rod ?
(a) Itis two meters long.
(b) It is used for measuring lengths of various body parts.
(c) Itis designed with 4 inter fitting rods of 50 cm each.
(d) It includes a moveable socket also.
(e) Itis used for taking circumferential measurements of body.

Codes :
(1)  (a), (b) and (c) (2)  (¢), (d) and (e)
3) (@), (b), (9 (d) 4) (@, (d) (¢

12. The features of the prosimians are :
(@) The most primitive of the living primates
(b) Organized social behaviour
(c) Small animals
(d) Large body size
(e) Solitary and active only at night

Codes :
(1) (a), (b) and (d) (2) (a), (b) and (e)
() (a) (c) and (e) (4) (a), (¢) and (d)

13.  Which of the following are the features of Negroid Races ?
(a) Dark Skin colour
(b) Dolichocephalic head
(c)  Straight hair
(d) Epicanthic fold present
() Mainly distributed in Africa

Codes :
(1) (@), (¢) and (d) (2) (a), (b) and (c)
(3)  (a), (d) and (e) (4) (a), (b) and (e)

14. The features of autosomal dominant traits are :
(a) Males and females are affected in equal proportions.
(b) Affected individuals are found in multiple generations.
() Transmission by individuals of both sexes.
(d) Only males are affected.
(e) Affected individuals usually found in a single generation.

(Cl())des(l;) ( ) and (e ) (2) (), (d) and (e)
b) and (c 4) (a), (c), (d) and (e)
yoms |H\||\|H | IHI\ ‘
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11. THmfees e & aR d 779 § 9 &1 9 foawo w& 82

(a) ¥E T H A1 B T

(b) I% RN o fafv= & &1 oo Ao o faT g9 g B

(c) FT50-50TH. & TR THSI ! ISHT TART AT ¢ |

(d) THH TH T 9T Gike ot @ g g

() 9% YRR &I ufkfy Frm % foe vt e 71

e :

(1) (), (b) 3R (0) 2) (@), (d) ¥R (e)

@) (@), (b), (0), (d) 4)  (0), (d), ()
12. IS %I IS § IATU foh WhH T o HF-HH § 07 T & ?

(a) Sfifad el & qod Y= (b) ETfSd HHISTh SRR

(c) BRI (d) IR TS ATERR

(e) Teniqardl IR fadk ¥ # Afsha

< :

(1) (a), (b) 3R (d) 2 (a), (b) 3 ()

(3) (@) (o) ¥R (o) 4) (), () ¥ (d)
13. itiieed goifa & 71 & ¥ RF-5H 9 707 § 2

(a) o1 I HAl T (b) SR R

(c) HiE = (d) sfasERIol afa

(e) W& &Y THIH H HISQ

e :

(1) (@), (0) ¥R (d) 2) (@), (b) FR (o)

(3) (a), (d) 3R (e) 4) (a), (b) 3 (o)
14. IfET OGS % Y@ A0 i e e €

(a) AR TR I GHM STIU § FIferd B ® |

(b) o =AfR eTe Wifgal § 91T Sd & |

(c) I AT o safoRTal gR T9M &9 | Had |

() fab R gefad 2@ el

(e) vwifea =afaa wrERoan T & e § W 9 € |

e :

1) (b)) IR (e) @) (©) (d) ¥R (o)

() (@, (b) R () @ (@ (@), (d) W ()
vors 1INV 5
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15. Who among the following was not the member of Torres Strait Expedition ?

(a) A.C. Haddon (b) C.G. Seligman

(c) W.H.R. Rivers (d) B. Malinowski

Codes :

(1) (a), (b) and (c) are correct. (2) (b) and (c) are correct.

(3) (@), (b), (c) and (d) are correct.  (4) (c) and (d) are correct.

16. Features of double descent are as follows :
(a) The ego traces his identity from mother and father side equally.
(b) The ego shares partial identity from father side and partial identity from mother side.

(c) Some members of ego’s family trace their identity from mother side and some from
father side.

(d) Double descent emerges when a matriarchal society undergoes transformation and
adopts some features of patriarchal society.

Codes :
(1) (a), (b), (c) and (d) are correct.  (2) (a), (b) and (c) are correct.
(3) (b) and (d) are correct. (4) (b), (c) and (d) are correct.

17. Which of the following features define “Tribe’ as an ideal construct ?

(a) Economic specialisation (b) Egalitarianism

(c) Integrative character (d) Class formation

Codes :

(1) (a) and (b) are correct. (2) (b) and (c) are correct.

(3) (a), (b) and (c) are correct. (4) (b), (c) and (d) are correct.

18. Sanskritization is characterized by :
(a) A lower caste adopting the life style of a higher caste.
(b) A higher caste adopting the life style of a lower caste.
(c) A lower caste giving up eating beef and donning sacred thread.
(d) A higher caste giving up donning sacred thread.
Codes :
(1) (a), (b), (c) and (d) are correct. (2) (a) and (c) are correct.

(3)  (b), (c) and (d)
vons [[[RHNAINN

are correct. (4) (a), (b) and (d) are correct.
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15. frafafed # § & IR\ we g™ &1 9w @ o1 ?
(a) TH. TeA (b) S Sfeme
(c) TxY.Ta.3R. Red (d) . Bferrewnt
%<
1) (a), (b) 3R (c) & T 2) (b) 3R () TE 1
(3) (), (b), (c) 3R (d) T Tl (4) (o) 3R (d) e T
16. TIet IIGHA i fo9Ivar 39 THR | ¢
(a) o1&A (M) STt g wran e faar S o) ¥ TuH w9 Te0 i ¥
(b) 3TEH (3M) iferek Tg= faar 1 TR § qen ST Ug= Widt &1 SR & |IET i |
(c) 3T8H (M) & INAR & T TG 3TIH] TgaH HIdT i 3R § TN FS I 01 Ig= e
1 SR ¥ TZ0T A ¢ |
(d) & T AGEAHS G TR ® Gk & M fIqadares 90 6l § faRivarst i
STUATT §, T SR SI9TshH Scdl Bl ¢ |
%<
(1) (a), (b), () 3R (d) T &1 (2)  (a), (b) 3R (o) ¥ T
(3)  (b) 3R (d) T ¥ 4) (b), () 3R (d) =&t 1
17. fr=fafea & @ #iF ot fago seenfa’ =1 T eyt fafdfa & sdiR aftenfyg st 82
(a) orfefe fafertento (b) HHTES
(c) THThTHE T[0T (d) = fmfo;
%<
1) (a) 3R Hﬁ‘%l 2) (b) 3R () TE 1
3) (), (b c) & 1 4)  (b), (c) 3R (d) TE 1
18. HEHfawor & ifum ¥
(a) =1 wnfa, S= <fa =1 Sfae Sieft 61 o791 ® 1
(b) = wfa, Fre=r sifa 6t e Sieft 61 o717 @ ¥
(c) 7= Sfd -9 T BIe | § a1 51 YR F ® R |
(d) S A TS YR HAT DS | T |
%<
(1) @) (), (©) ¥ (d) T T (2) (a) 3R () FEEI
(3) () (©) 3 (d) ﬂﬁ%l 4)  (a), (b) ¥R (d) T €1
o7 Il 7
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19. Which of the following are techniques of manufacture of Neolithic celt ?

(a) Flaking (b) Pecking () Grinding (d) Polishing
Codes :

(1) (a), (b) and (c) are correct. (2) (b), (c) and (d) are correct.

(3) (a), (c) and (d) are correct. (4) (a), (b) and (d) are correct.

20. Which of the following are relative methods of dating ?
(a) Palynology (b) Palaeontology (c) Fluorine dating (d) Varue Analysis

Codes :
(1) (a), (b) and (c) are correct. (2) (a), (c) and (d) are correct.
(3) (b), (c) and (d) are correct. (4) (a), (b) and (d) are correct.
21. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A) : The phenotype is dependent on the genotype.
Reason (R) : Phenotype determines whether an organism is heterozygous or homozygous.
In the context of above two statements, which one of the following is correct ?
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

22. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Natural selection introduces new genes in the population.
Reason (R) : Mutation favours one of the two alleles.

In the context of above two statements, which one of the following is correct ?
Codes :

(1) Both (A) and (R) are true.
(2) Both (A) and (R) are false.
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

23. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Most living non-human primates are under threat of extinction.

Reason (R) : Human activities are destroying their habitat and the animals themselves.
In the context of above two statements, which one of the following is correct ?

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

vons [[1LHHAIN AN
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19. frefafad 3 § -9 A 79 TR g0 F P w AR ?
(a) THT (RIE)  (b) T (0 wwm@EmRET) () et
? (a), (b) &R (c) &l ¥ 2)  (b), (c) 3R (d) =& 1
(3) () () 3R (d) =& 4)  (a), (b) 3R (d) W €1
20. = § @ 9 @ e fuior vgia @ gweg ®2
(a) O (b) Sfrareeta wgfa,/sftemea yoret
(c) TARMH Tgfa d) ST faversm
?1_; @ (b) 3R (c) T € 2 (@) (o) 3 (d) T T
() (b), () 3R (d) T T 4)  (a), (b) 3R (d) W& €1
21. = 3w few U ¥, o A w R (A) R gHY 9k (R) R
AT (A) : Ay, ST R AR 71
e (R) : e HYad widt € ff #1E Sta fasmarast § a1 qogeesi |
TR feu 7 T Taret & e H e § F HH-11 e wEr ® 2
?z (A) 3R (R) SHi =& € @21 (R), (A) 1 HE <A B
(2)  (A) 3R (R) SHT =& € T2 (R), (A) T T A0 T €1
(3) (A) W& &, dfed (R) TTerd B
4) (A) T T, dfET (R) §L T
22. < e feu T €, T @ U stfureRe (A) 3R TE @ (R) B
SITURAT (A) :  WIHTdsh = ST B T SH=H T THET HIT & |
ek (R) : Sfieds < # ¥ fordt T 9urae 1 Ul o B
ST S aael & e § A § ¥ -9 e WEt ® 2
?z(A)Sﬁ'{(R)Eﬁ‘ﬁW%I 2) (A) 3R (R) TH T 1
(3) (A) ¥l §, W (R) Terd T (4) (A) T T, AT (R) FE &1
23. = < weF feu T €, T @ U stfueRe (A) 3R TE @ (R) B
AURAT (A) :  SIRIR Sfad I-HAHT TR faea 89 i FIMM W |
T (R) A Tfdfafear 3% 3R 37 TarE & 1 T F Tl
ST S aeeAl & e H T § | B W e WE © 2
?z (A) IR (R) S Tl €, R (R), (A) F Tl = B
(2) (A) ¥R (R) 1 ¥ €, 3R (R), (A) HT T AT T T
(3) (A) WEI B, AT (R) Terd €|
(A) TTd €, AfeT (R) WL B
o7 HIHINHHH|||H\||\H||||\I\H\II\||“|H|H\||\||\||\II )
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24. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Epicanthic fold is an important feature of the Mongoloid populations.
Reason (R) : Epicanthic fold has no biological function.

In the context of above two statements, which one of the following is correct ?

Codes :

(1) Both (A) and (R) are true.
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

25. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : The genealogical method helps in ethnographic data collection.
Reason (R) : Anthropologists need to collect genealogical data to understand current

social relations without reconstructing history.
Based on the above two statements, choose the correct answer.
Codes :
(1) Both (A) and (R) are correct.
(2)  (A) is correct and (R) is wrong.
(3) (A) is wrong and (R) is correct.
(4) Both (A) and (R) are wrong.

26. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The diffusionists categorically denied “psychic unity of mankind.
Reason (R) : Because they believed that man is ‘inventive’ by nature.

In the context of the above two statements, which one of the following is correct ?
Codes :

(1) (A) is correct but (R) is wrong.

(2) (A) is wrong but (R) is correct.
(3) Both (A) and (R) are wrong.
(4) Both (A) and (R) are correct.

27. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Trobriand islanders exchange ceremonially valued shell ornaments, this is
known as ‘Kula Exchange’.

Reason (R) : Behind such ceremonial exchange of shells, the meaning of which is
symbolic, they exchange the goods of their mutual necessity, which is the
main purpose of Kula.

In the context of above two statements, which one of the following is correct ?

Codes :
(1) (A) is correct but (R) is wrong. (2)  (A) is wrong but (R) is correct.
(3) Both (A) and (R) are correct. (4) Both (A) and (R) are wrong.
vors [N 1
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24, = @ wed fou mu § o9 @ ifireme (A) 3R TE ek (R) B
IfuReT (A):  ATHATHRI A TH TI@ A&T & WA Sl |

& (R) : SR Afct i hlg TR JfHe 7 ¢ |
STdE SHl FHUel & Ged H 1 § ¥ BF W Fue 9l T2
?0

(1) (A) &R (R) <l @&

(2) (A) 3R (R) A w1 E, 3R (R), (A) FT Wel = T € |
(3) (A) 9 T, AfehA (R) ToId B |

(4) (A) o &, A (R) TE R

25. 9 < %A fou e €, f59H @ = tfeRer (A) TR gE 9k (R) B
ATUFRAT (A) :  IIEE! TSfd S IO 92T Heheld | el il ¢ |
e (R) : TURIC AT ol ! 9K sfaer qImio & §ae & fag ama Sefei
1 591 I SATHel THS HT1 SEIF ¢ |
STF T FHUAl & JET H FeAfated § § SE-9 9@ § 2
e :
1) (A) 3R (R) S T
2) (A) W& § &R (R) 7@ B
(3) (A) 7 § R (R) W& 2|
(4) (A) 3R (R) T Terd ¥ |

26. 9 < Hd fau e €, foH @ ek ifueRe (A) 3R TEU 9@ (R) ©
AmIT (A) . TavETcdl g1 gEae €9 § ' AFa S St AFRTE Thdl' § $hR fomar T |
qd (R) : Fifr 3 favam@ w3 9 T 77 Tipfas w1 @ * enfashreta’ €1
ST < weAl % gE § frefafea # @S- @ ®?
1) (A) =@ g afed (R) Terd T 2) (A) 7T § afeT (R) & T
(3) (A) T (R) THI it ¥ | (4) (A) T (R) I T

27. S A ey U | e T PRI (A) TUT TE I Tk (R) Fel S B
afirerer (A) : i SivarEt w9 @ 3 STl w1 Teeyu TSI fafta & € 58 Fan
fafra @ed 2|
e (R) : U™ Yfqertcasr SAsees fafma 1 gy o Sifoare graardt sl stavaehars
T a3 A1 ol ARH-TSH Hd B, Sl Al 1 T 3299 ¢
STdE <1 weHl & gET H fAfafed § @ aF-w /@ g ?
< :
1) (A) =@ g afed (R) Terd T 2) (A) 7T § afeT (R) & T

(3) (A) 3R (R) SHi &l T 4) (A) 3R (R) SHi Tod 1
rorss [N n
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28. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A) : The tribal movements in India during the British Raj were caused more
because of conflict between the concept of ‘Communal Property” versus
‘Individual Property’.
Reason (R) : From time immemorial, the tribals in general had the concept of ‘Communal
Property” instead of ‘Individual property’.
In the context of the above statements, which of the following is correct ?
Codes :
(1) (A) is correct and (R) is wrong.
(2) (A) is wrong and (R) is correct.
(3) Both (A) and (R) are wrong.
(4) Both (A) and (R) are correct.

29. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : Federmesser culture is a very specific development of central Europe.
Reason (R) : Late upper Palaeolithic folks migrated to the northern latitudes and

specialized in reindeer hunting :
In the context of above two statements, which one of the following is correct ?

Codes :
(1) (A) is correct (R) is wrong. (2) Both (A) and (R) are correct.
(3) (A) is wrong (R) is correct. (4) Both (A) and (R) are wrong.
30. Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A) : Mesolithic culture of Great Britain is best represented by Starr Carr
excavation.
Reason (R) : One of the major traditions of Mesolithic is Maglamosian which is spread

all over western Europe.
In the context of above two statements, which one of the following is correct ?

Codes :
(1) Both (A) and (R) are correct. (2)  (A) is wrong (R) is correct.
(3)  (A) is correct (R) is wrong. (4) Both (A) and (R) are wrong.

31. Identify the correct sequence of the following Racial Classifications from earliest to the recent

one.
(1) Blumenbach - Deniker - Hooton - Boyd
(2) Boyd - Deniker - Blumenbach - Hooton
(3) Hooton - Deniker - Boyd - Blumenbach
(4) Deniker - Blumenbach - Boyd - Hooton
32. Identify the correct sequence of blood groups in order of their discovery.
(1) ABO - Rh - MN - Duffy (2) Dufty - Rh - ABO - MN
ABO - MN - Rh - Duffy (4) Duffy - Rh - MN - ABO
s IR :
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28. = T FHUA feu T E | TH FY FURAT (A) T TR FI ek (R) el W |

FRHIT (A):  9RA | FUSH TS & SRH AN e qHgias quta’’ a9 SAfRr
quf'' o &R T gu|

e (R) : T §9 | el § wmr=a: s gufa’’ & e aeefae guta
i STAYRN off |

ST Fel % Hed # ffafad § 9 wiF-91 WE %2

< :

(1) (A) 5 T a1 (R) T g | (2) (A) T € a4l (R) FET €

(3) (A) T (R) THI it ¥ | (4) (A) T (R) I T

29. = < e fou U 1 UH BT AN (A) T TR I qeh (R) Fel 0 B
AfReT (A) . HSHW TEHia 7 TR F1 5gd fafere Teamwy T
e (R) : TR IR GO SIS ST &I i TR Jad T TC g1 e o ReEwn
ERENERRIR I T
ST Fel % Hed # ffafad § 9 wiF-91 W& %2
%< :
(1) (A) & 2 (R) To@ B | 2) (A)TS (R)IHI F&I T
(3) (A) 7 € (R) 9Et 2| (4) (A)TE (R) A Terd 2

30. < %A feu U E 1 T F1 UKL (A) T TER FI deh (R) el W |
AFHIT (A) : T foeA Tt ALAUNT Heapfd i Farad ®9 § RWR-SR Gk g fafd fowan s
gehdl B
&+ (R) : HTTHIETE HEATEI0 i @ TR § S gegut gfyert g3 | Shelt g2 2
ST Fel % Hed # ffafed § 9 wiF-91 WE § 2
%<
(1) (A) T (R) I Tt 1 (2) (A) 7 T, 991 (R) &l T |
(3) (A) F&l T T (R) TTeTd 2 | (4) (A) T (R) THT Tord € |

31. 1 ° 9 frud yeiia afierton o1 STRIYS 9 ey o Tel % o fe@mn 7 g2

(1) HIEE - SR -G -=Fe (2) <AFS - SHH - IEAIE - T2

(3) TN - -=FE - qHTEE (4) ST - HAENE - SEFE - g
32. e fou U o o % WE A TR WIS & T HH H HEl WL, TE_qH

(1) THATST-MTA-THTI-TH  (2) TH -FRTH - T 371 - TH
(3) TSN -THTI-INTI-SH  (4) TH - -TH T -T A
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33. Arrange the following concepts in Chronological order. Use the codes given below :
(a) Sex - Linkage (b) Chromosomal theory of inheritance
(c) DNA structure (d) Mutation
Codes :
1) @ ®) @) (@ @ (© @ b)d G (@) b) @@ @ (@)@ @ @b
34. Identify the correct sequence of the following Landmarks in cephalo-caudal direction.
(1) Subnasale - Nasion - Pronasale - Stomion
(2) Pronasale - Subnasale - Nasion - Stomion
(3) Nasion - Pronasale - Subnasale - Stomion
(4) Stomion - Pronasale - Subnasale - Nasion
35. Identify the correct sequence of the hierarchy of communities in descending order according
to Robert Redfield.
(1) State —» Region — Country — Village
(2) Village —» Country — Region — State
(3) Region — State — Village — Country
(4) Country — Region — Village — State
36. Identify the correct sequence in the development of Anthropological theories :
(1)  Unilinear evolutionism — Diffusionism — Functionalism — Structuralism
(2) Diffusionism — Functionalism — Structuralism — Unilinear evolutionism
(3) Functionalism — Unilinear evolutionism — Diffusionism — Structuralism
(4) Structuralism — Functionalism — Diffusionism — Unilinear evolutionism
37. Identify the correct sequence of origin of marriage as given by L.H. Morgan :
(1) Consanguinous — Patriarchal - Monogamy — Punaluan — Syndasmian
(2) Syndasmian — Punaluan — Consanguinous — Patriarchal - Monogamy
(3) Monogamy — Punaluan — Consanguinous — Syndasmian — Patriarchal
(4) Consanguinous — Punaluan — Syndasmian — Patriarchal - Monogamy
38. Arrange the following books in order in which they appeared :
(a) Hindu Method of Tribal Absorption by N.K. Bose
(b) Himalayan Polyandry by D.N. Majumdar
(c) Indian Village by S.C. Dube
(d) Dynamics of Tribal Leadership in Bihar by L.P. Vidyarthi
Codes :
W) 0, @@ @ @© b @ @ @b d @ © b ae
s [N ’
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33.

34.

35.

36.

37.

38.

1) (), (
yarss ]}

FIE HI Heg W < <t TS ATURNST BT STF T FHHTHR T |
(a) Teitt Heer= (b)
(c) T TEHEA (d)
HiS :

1) (@, (b) (), (d) (2

SR (F[eTH)

©), @), (b), (d) G) (d) (b), (@) ()

=1 9 ¥ w3t R-g=s1fvaE foen ¥ W@ %9 &1 989 &Y
(1) FISd - 797 (THEEH) - IHea - R (q@ f60g)

(2)  YHSIA - HoASIA - 79 - R
(3) TG - TS - FelHSTe - WA
(4) W - YHs - FeAsTd - 49

STa TRt w1 o fagia
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@) (d) @) (0 (b)

T YEhice & TR TUSHI ! UMRH o Hal ARl FIhA H TgdM A :

1) T - &1 - < - TH 2)
(B) & > T > TH - I (4)

ae fommt Sfasma fagid =1 @&t %A H ggaH &

1) TH-EH [THEaR — THRER — FhHEar — GEmER
2)  WERAR — YHEAR — HEAER — TH-{E T SSfaheEears
3) THMEAR — TH-{EE IGTREAR — THRAR —> GLEER
4) GEAER - THEER - THRAR — T8 3G aehrag

T T A0 g1 foremg-gen &1 Scafd &1 92 o8 | 989 &

(1) T — fIgeria - & foar 991 - g — faemfem
2) fTHeEHEE - TG — FAEHR — TOqeHE — T foemg gen
(3) T faamg 9o — YA — TR — oMy — fugear
(4) HHRE — QAN — fFemfem - fageara - & faer g

o
[

TG &I 1 ST FHRHE % F SFTTER T

(a) feg HUS 3% o TISRSM - TH.%. 99

(b) femreem difaug! - S1L.uA. A9HRR

(c) 3fead foos - wo. 9l @

(d) SEAMHE ATF grad faeiv 59 fagr - e . fommeff
®e

1 , (0),

) (d), @ (2) (@) (@ ) d E
A

) (
| E

(@), (b), (), (d)
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39. Identify the correct sequence of the following Pleistocene climatic episodes.
(1) Amersfoort - Alleroid - Paudorf - Gotwig
(2) Alleroid - Amersfoort - Gotwig - Paudorf
(3) Gotwig - Amersfoort - Paudorf - Alleroid
(4) Paudorf - Alleroid - Amersfoort - Gotwig

40. Identify the correct sequence of the following artifacts.
(1) Tan Slipped Ware - O.C.P. - PG.W - N.B.P

(2) O.CP - Tan slipped ware - P.G.W - N.B.P

(3) P.GW -N.B.P-O.CP - Tan slipped ware

(4) N.B.P-O.CP - Tan slipped ware - P.G.W

41. Match an item in List - I with an item in List - II. Use the codes given below.

List - I List - II

(a) Martin and Saller (i) A Guide to Field Methods
(b) Sheldon, Tucker and Stevens (i) Lehrbuch der Anthropology
(c) Ashley Montagu (iii) A Handbook of Anthropology
(d) Weiner and Laurie (iv) The Varieties of Human Physique
Codes :

(@ (b) (o) (d)
O @ O () G
@ Gv) @ @) 6
@) O () @) @
@) () () @) 0

42. Match an item in List - I with an item in List - II. Use the codes given below.
List - I List - II

(a) Anthropometer (i)  Short and straight measurements
(b) Tape (i) Linear measurements (Long)
(c) Spreading callipers (iii) Curved dimensions of herd and face
(d) Sliding callipers (iv) Circumference measurements
Codes :

@@ (b) (o) (d)
M) @ @) @6
@ ) O (v G
@) () @) O )
@ O @) @ W

vons [[HEHIFRMINTANE L
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39. A A Sterary Tk weAe & Tl % i IgEH HifST |
(1) SHAERE - TAREE - IR - efom  (2) TAREE - JAHERE - e - I=ReEh
(3) T - SHUEE - URENh - TARES  (4) TSNSk - TARES - FHHEE - Tefom
40. Tr=fafea freasiaal & T2 w7 ®1 9gaH HiwT |
(1) 98 7@ Il geuve - SLEL . - dSssy, - TAE L
(2) SHEE. - g WA a7t geuwe - 1S Sy, - AL
(3) WSTE=y, - TWELH.- L. - YT W 9 geHvS
4) TASA - AR - i T T geuve - 9S e,
41. IS HI TGS § Gt - [ 3R Gl - 11 1 9t &1 wat e &L
et - 1 et - 11
(a) WA TS T () 31 TEE ¢ Hics HISH
(b) TEd, TR TS Wod (i) TIETE ST TUTAratst
(c) U HieT] (iii) 1 SSIH ATE THAArS
(d) 9BER TS AR (iv) T RN 3ATh A TR
< :
@@ () (9 (d
1 G @ Gv) (i)
2) (@Gv) @) @) (@)
G @ (@) @) ()
4) @) (v) (@) ()
42. HIS HI ASS | ol - [ F T2 1 ol - 1 1 gt 9 T2 e |
el - 1 et - 11
(a) T () SIEI R et T * ferg
(b) 2H (i) e @ T % fau
() wifen wfamd (iii) Y SR =FY AT FAERR TG & faQ
d) weEfen e (iv) =R a1 aRfy =} e % fog
%<
@@ () (9 (d
1 G (Gv) @) ()
(2) @) @@ (v) (i)
©) (iV) (i) (@) (i)
4) (i) @) (@{v)
po7s U L
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43. Which one of the following is not correctly matched ?

(1) Goodall - Chimpanzee
(2) Fossey - Gorilla

(3) Galdikas - Orangutan

(4) Carpenter - Rhesus monkey

44. Match an item in List - I with an item in List - II. Use the codes given below.

List - I List - II

(a) Molecular Anthropology (i) Linnaeus
(b) Taxonomic classification (i) Washburn
(c) New Physical Anthropology (iii) Emile Zuckerkandl
(d) Biological concept of species (iv) Ernst Mayr
Codes :

@@ (b) (9 (d)
1 (Gv) G @ ()
() G @) @ )
G) @) @ G )
@) @O @ @) (@)

45. Match the names of the books in List - I with the dates of their publications in List - II.

List - I List - II

(a) Anthropology, The Study of Man by E. Adamson Hoebel (i 1871
(b)  Primitive Culture by E.B. Tylor (i) 1988
() Ancient Law by Henry Maine (iii) 1877
(d) Ancient Society by L.H. Morgan (iv) 1861
Codes :

@@ (b)) (o) (d)
M @ @ Gv) G
@ (v) @) @ @
@) O @) @) ()
@ O @ @) @

vorss | RN C
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43. = 9 9 =9 o e 9 T 8 ?

(1) Tesa - fsh
(2) rE - Tifeen
(3) TeEEE - SEA
(4) ®HRIX - GE HE

44, IS F AEE © ol - [ AR Geit - [1 F 231 1 §81 e &)

el - 1 Tl - 11
(a) HifcTheR TSt () foaterg
(b) CFEAITH AT FhT (i)  oTReH
() < FriSrwa Tddmerst (iii) THA JFEHeA
(d) o =1 Sfer fogme Seet oaRon (iv) ST HeR

(@ (b)) (o (d)

1 (@) G @ ()
(2) @) () @) (v)
() @) @ G (1)
@ @ @ @) (@)

45. I & T (T - 1) H 3Tk FHRH & a9 (T - 11 ) o T e &

T - 1 T - 11
(a) TGS, € Wt 3 39 - T, TSHUA g G 1871
(b) fufafea e - 1. TR (i) 1988
(c) TAfEe @l - &4 7 (iii) 1877
(d) TAMHTE GEEE - TA.TE. 90H (iv) 1861

@@ (b) (o) (d)
) () @ (v) (i)
) (v) () G @)
) (@) () (v) (i)

i

(iv)

@ @ @ ()
vorss NN

=
O
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46. Match the names of the authors in List - I with the names of their books in List - II. Use
codes given below :
List - I List - II
(a) N.K. Bose (i) The Maler : Nature - Man - Spirit Complex in
a Hill Tribe of Bihar
(b) D.N. Majumdar (i) Canons of Orissan Architecture
(c) L.P. Vidyarthi (iii) Religion and Society among the Coorgs of
South India
(d) M.N. Srinivas (iv) A Village on the Fringe
Codes :
@@ (b)) (o (d)
O O @ @) @
@ (@) @) 0O @
@) ) O @ )
@) (v (@) @ 0
47. Match the items in List - I with items in List - II. Use the codes given below :
List - I List - II
(a) A classification of cultures possessing gardening, (i) Savagery
agriculture, or domesticated herds but devoid
of written language.
(b) Exchange of goods between hostile people (ii) Pastoralism
without face - to - face contact and without
the use of middlemen
(c) A culture marked by a subsistance technique (iii) Barbarism
centered about the herding and husbandry
of domesticated animals
(d) A state of cultural development marked by (iv) Dumb Barter
the absence of gardening or agriculture
and written language
Codes :
@@ (b) (o) (d)
1) G @) @ 6
@ O @) @) @)
@) ) @ @) 0
@ @ O ) @
vorss | RN L
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46. T@HI % AW (e - 1) ITh! Tkl (it - 11 ) & e foae =<

et -1 et - 11
(a) TAH. a9 () T AW : TR - 89 -foriie S 37 ¢ e e
A TR
(b) ELTA. ASEER (i) T ATE TR sifehear
(c) el forameff (ili) RfeTsM U HEmE THIT T HIW I |8y sfrea
(d) TA.TA. gifte (iv) T faas &1 g iR
e :
@@ () (9 (9
® @ @) @) (v
2 G (@Gv) @ (i)
G) @) @@ @) ()
(4) (v) () @) ()

47. e - 19 U TC A 1 geit - 117 U U w7l & @1 = iU 10 e &1 79T id ge faam &)
Tt - 1 g - 11
(a) HEHfTAl 1 AR & A smrer, S (i) ST
1 T WS ok FE § fohq fafea v 9 emfig €
(b) TR S o o=, STEA-EeA e forf qen for fRelt (i) g
TeAE & GEE 1 STeAl-aga
(c) Wwpfa, fFaH IMad &I e 9 3R T (iif) eI

TROT-TIOT T TR TR Higd 2
(d) wepfa &1 faewm iS58 et o Ffy o fafed (iv) T, T-agat
T T STqufefd § qe= S 2

(@ (b) (o)
i)
iii

(
1) (
) @ @) (
V) @) (
(

(2 )
€ v)
v)

ii

i

1

4) @) (
rorss [ 11

N
—
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48. Match the items of List - I with items of List - II. Use the codes given below.
List - I List - II

(a) Village Rampur in U.P. (i) A.C. Mayer

(b) Village Kishangarhi in U.P. (ii) Oscar Lewis

(c) Village Ramkheri in U.P. (iii) S.C. Dubey

(d) Village Shamirpet in A.P. (iv) Mckim Marriott
Codes

@@ () (o (d)

O O @ @) @
@ () @) O
@) (v) @) @ @
@ ) O (v G
49. Match items in List - I with items in List - II.
List - I List - II

(a) Loess (i) Inter pluvial in Potwar
(b) Primary Laterite (ii) Inter pluvial
(c) Silt (iii) Glaciation
(d) Pinjaur (iv) First Pluviation
Codes :

@@ (b) (9 (d)
M) 6 @) @ @)
@ (i) () @ 0
@) (v) () @) @)
@) @ @) @6

50. Match items in List - I with items in List - II. Use the codes given below.
List - I List - II

(a) Renigunta (i)  Mesolithic site
(b) Suregaon (i) Sohanian Succession
() Guler (iii) Middle Palaeolithic site
(d) Langhnaj (iv) Upper Palaeolithic site
Codes :

(@ (b) (o) (d)
1) ) @ @ @)
@ () O @) )
@) (v) @) @ @
@) O @) @ @)

-00o0-

vons [[1LHHAINANI 2
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48. eIt - 1 ¥ QU T 7E) 1 Rt - 1% A7) o |1 fiem &1 = T s 1 33 |

T - 1
T TR ST |
W fHRTTTE SR-TeW §
M T IW-Tq |
T RIS STY-Tew |

/-\/(?/-\A
Y22 2E

@ (b)) (9 (d
(M) (@) @) (iv)
() (@(v) () (i)
(v) (@) () ()
() (@) (v) (i)

N N N N
BN N -
N N N’ N

49.

£

et - 1
SIS

YRR Aetde
faee
TUSI=T

~ ~—

AN N N N
HEZ =z

(@ (b) () (d)
L @ @) @ @)
(2) (D) (v) @) (@
(3) (v) @) () (i
4) @) (@v) @) @)

i)

ii

- 131 Gt - [1 &1 A1 1 i ifs |

(1)
(i)

(i)
(iv)

(
(
(iii)
(

iv)

T - 10

TH. TR
R Afad
L g
A #Afette

T - 11
idaR § 3TdR-SATEhed
M- AT H T
feamed
H SATEHTIT

50. eIt - 1 S 7&1 1 et - [ 6 7&l 9 e s |

et - 1
(a) i’“‘I‘UE'
(b) GuTE
(€ TR
(d) AN
e :

@ @®) (© (@
(1) (@) @@ @ ()
(2) () (@ @) (iv)
() (v) () @@ @)
4 @ @) @@ (v)

vons [[[RFITHIATENI
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(i)
(i)
(iv)

23

Tt - 11

eI T

BSIRIEEE ST EET T
T YRITSTOT Teret
I AT T
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Space For Rough Work
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